Indian Affairs. 12266 Rec'd APR 7 Indian Industrial School, Carlisle Barracks, Pa., Capt. R. H. Pratt, 10th Cav'y, Supt. April 6, 1893. Forwarding Reports of Irregular Service for the month of March, 1893. 1 mc -Trans.

U. P. Indian School, Carlisle, Pa.

April 6, 1893.

To the Honorable,

The Commissioner of Indian Affairs, Washington, D. C.

Sir:

I have the honor to forward herewith for your action Reports of Irregular Service during the month of March, 1893, involving an expenditure of \$258.23 for White Labor and an expenditure of \$328.80 for Indian Labor, in all \$587.03.

Very respectfully,

1 Enc.

Capt. & Supt.

12263 Inclos Fo (S-252)

OFFICE 1893

OFFICE 1893

OFFICE 1893

OFFICE 1893

OFFICE 1893

REPORT

OF

IRREGULAR EMPLOYÉS

At Carliele Barrace Agency, Pa

For the month ending March 31, 1893

(6549-5,000.)

ACTION:

AUTHORILY

34815 | SIVED.

OFFICE OF TAPE 13 1893

1884.

CHARACTER OF SERVICE. NECESSITY FOR SERVICE. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 DAYS. Am't per Day. Am't droeach. PAID EACH. RACE. NAMES OF EMPLOYES after Charles of the Control of		yes at Indian Industrial Sch				-														1	
afrenter (haliss 752) Refeairs 1/2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4	5 6 7	8 9 10	11 12 13	3 14 15 1	6 17 18	19 20 21	22 23 24	25 26 2	27 28 29	30 31	No. of DAYS.	Am't per D	ay. Am	't due eac	h. AN	OUNT EACH.	RACE.	, NAMES OF EMPLOYES.
Link Cook " " Just Charge sia " Fisher , resigned 1 1 1 1 1 1 1 1 1	A STATE OF THE STA	P.															1			01	Of to the
lerk " " Ja charge dice " Eisher , resigned 1 1 1 1 1 1 1 1 1	penter (Auth 33752)	Cépairs		/2 /	111							11/									lo la Thomason
lish ork " " " " " " " " " " " " " " " " " " "	sterey (de dust	Sulstitute for Miss Hamilton, sick	1111	11	111				11	111	/	111	//					- 11			
Dir. 11	a cher (Sun Stumo,		1111	11	111	1 /	111	111												"	Elizabeth C. Heuch
Divite . " " " " " " " " " " " " " " " " " "		In charge vice " Fisher , resigned						11/	11	111	1	///						1			
Disciplinarion 1997 1998 19 1998 19 1998 19 1998 19 1998 19 1998 1	lerk , " "	To fill Nacancy	1111	1//	111	11/	11/	111	111	111	11	111	111			3	10 3	3	0 33	0.	
979 5 59 1 2 3 8 9 2 1 2 2 3 8 9 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Oisaillinin "	" " " " " " " " " " " " " " " " " " "	1111	111	111	111	111	111	111	111	11	111	111	31	2						Benjamin Caswell
	Quacipunanaic															2	48 8	9 37	889		
																	78 6	97			
				4																	
	to the state of th																				
			MAG																		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
																					1 1000
																	R. C.				
		Market Market Control																	23/2		
																	69.3		1	-	

PORT of Irregular Employ				DATES OF SERVICE				COMPENSAT				
CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4 5	6 7 8 9 10 11 1		9 20 21 22 23 24 25 2	6 27 28 29 30 31	No. of Days.	m't per Day. Am	't due each.	AMOUNT PAID EACH.	RACE.	NAMES OF EMPLOYES.
	1 .: 011	11111	111111	2 2 2 1 1								
rentice to printing	derdian apprent			12/2/2/2/2			1/2	12	90			com setorsky
" "	4		1111111	1/1/1/1/	1 1 1 1 1 1	+444	26	24	6 24		"	Levi St. Cyr.
		12 1/2 /2 /2					v	12	24			Felix V. Eagle Fe.
		12/2 /2 /2	111111	1111111	11/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1	111111	2	12	24			William Fuffi
	,	14/2/2/2			12/12/2		/3	08	104			John G. From
	*	17/2/2/2			1.1.1.1.1.1.		13	18	104.			Timothy stem
	*				hh hhh		13	88	104.	104		nicodemus s,
		12/2/2			hhiphh h		13	4	314	312	1	James wheel
					11111		20	74	480	480		Fred Wilson
	140	12 /2 /2 /2			hhhhhhh		12/2	12	150	150		Philip Lava
	*	1/2 /2 /2 /2			1/2/2/2/2		13	12	156	156	11.	Clark Gregg
			/ / / / / / / /	九九九九九	为为为为为	12/2/2 /2	13	08	104.			James Still
		1111					"	12	v4.			George Buc
				为为为为	为人人人人人	12 22	13	08	104			Elias Stant.
			2/2 /2 /2/2		hat hh		11	12				Samuel Teps
				九九九九九			13	08				Trans? Scott
	*		12/1/2/2		12/2/2/2/2	and the second second	12	18	96 -			Robert Thom
				2 1/2 /2 /2 /2	1 1/2/2/2/2		10%	08				alex state
				1/2 /2 /2 /2 /2 /2 /2 /2	12 2/2 /2 /2 /2		12	08	96			Daniel Jack
		11/11/1		hhip hh			13	08	1 1	1		10 10 10
								08				Joseph Sp.
		1 1 2 1	11/1/2/2/2		1/2/2/2/2		11					from of Crows
* * *			2444	12/2/2/2			13	12				Daniel mcDo
" " "			22/2		12/2/2/2		12	12		1		Josiah R. W
* " "	*		1/2 /2/2		12/1/2/2		11/2	12	138			astury Clan
* * *	many of the second		12/12/1				13	08	104,			mores le Pat
* " "	* * * * * * * * * * * * * * * * * * * *			22/2/2 22	hoppy hop	1/2/2/2	13	08	104.	104		Seter Cadot
11		hhhh	hhhhh	1/2/2/2/	hope top h	1/2/2/4	12/2	. 08	100	+ 100	1	Eddie Jonath
" " "			1/hhhh		phhhhh	92 /2 1/2 /L.	11/2	08	gr			Clarence Su,
, ,				为大大大大大	12/1/1/	1/2/	12%	0	100			amos Osage
			and the second second	大大大大大			12/4		100			Jacob Jime
					12 /2 /2		10		100			Saul G. B.
" " Carpentering	" "		122112		hhhhhhh		13		312	- 312	1	shigh Souce
	*		14/2/2/2		12/1/2/1/2		12/2			300		starrey war
		11 1 1	22/2/2	21111	12 12 12 12 12		11/4			138		Stugh James
	*- *-		24/2/2/2		九九九九九九		12					ned Brace
		1 2 1 1	1/2		12/2/2/2		10%					Johnson ads
	* * * * * * * * * * * * * * * * * * * *		11/1/1/1/	12/1/11								
* * *					1-1-1-1-1		13					Chas Buch
	*	The part of the	1-1-1-1-1	11/1/1/2	1-1-1-1	11/1/	13	.08	104	17		Jambert Isto

PORT of Irregular Employé	8 at	Ayency		Jor mo	onth ending		, 18	9 , oy				, Indian Agent.
				DATES OF SERVICE		-3 3	No. of	COMPENSAT	rion.	AMOUNT		
CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4	5 6 7 8 9 10 11 1	12 43 44 45 46 47 48 49	20 21 22 23 24 25 26	27 28 29 30 31	No. of DAYS. Am't	per Day. Am	i't due each.	AMOUNT PAID EACH.	RACE.	NAMES OF EMPLOYES.
	7	2 11 11 11	11 11 11 11 11 11	1 4 4 4 1 1	1111111	24/2	13	00	104	104	0	Daniel Varner
utice to Curpentering -	Indian apprentise	1/2 /2 /2 /2		九九九九九九九		1-1-1-1	inh	118	100	- 100		-
, _ ,		2 2 2 2	10/0/0/0/00	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	127	MARIE	n	10	16	16		Frank Campes Emanuel Belle fer
		12/2/2	12/2/2/2	1	1111		6/2	08	52	52		Thomas Belong
		1 1 1 1	222		1-1-1-1-1-1	22/2	11	08	88.	88		manuel Son
Andrew -	" ·	11/1/2	12/2/2/2		1.1.	1. 1. 1. 1.	11	~4	264-	264		Delos Lone ev
		1/2 /2 /2	11/2/1/2		1. 1. 1. 1. 1. 1.		13	08	104	104	1	Josef Colmo
		12 1/2 /2 /2			1/2/2/2		13	08	104.			Chas white
		1/2 /2 /2 /2	1/2 /2 /2 /2 /2 /2		九九九九九		12	08	96	at.	4	-
* * * * * * * * * * * * * * * * * * * *	***	九九九九	2 2 2 2		12/1/2	1/2 /2 /2	8	12	70	06		from starri
"		1/2 /2 /2 /2	111111			12/2		24	3 24	324		Solomon Colle
. Blacksmithing		12/21	12/2/2/2		11/1/1/1		13/2	12	156	156	"	Jason Betgine
		12/2/2	1. 1. 1. 1. 1. 1. 1.		12/2/2	1/2 /2 /2 /2	12%	24	300		1	Beldraf tox
		12 12 12	九九九九九九		LE KAL	1-1-1-1			100	- 100	1	James Grant
*		2221	12 12 12 12 12 12		12/2/2	12 12 12	124	08				abres stogine
	* * * * * * * * * * * * * * * * * * * *	122	22222		AAAAAA	1-1-1-1	12/2	08	100	- 100		
		2212			1-1-1-1-	1-1-1-12	12/	24	300	300		John Lowey
			12/2		大大大大	2/1/2	8/2	08	68	68	1	John amorni
		1/2 /2 /2	12/1/2/		11/1/2	1/2/2 /2 /2	13	24	312.		1	mark Levoi
Sin to be the same		12/2/2	11/2/2/2		1- 1- 1- 1- 1- 1-	12/2/2	12/	08	100-	100		Stavison Sin
		122	12 1-12	2224	1 /2 /2 /2 /2 /2 /2	22/2	11/4	08	92			Charle Redha
			12 12 12		1/2/2/2	1444	8%	24	204	100	1.	Stephen Rens
			22/4/4	12/2/2/2/2/2		2226	9%	08	76	76	-	Charley Samp
· Painting		12/2/2	121222		1-1-1-1-1	12/2/2	14	12	750	150	10	amos Stami
	-1,1-1	1222	1/2/2/2/2	12/2/2 /2	1-1/2 /2/2	12/1/2	12	08	. 96	96	1	Edward Cam
*		12/2	h phhhh	12/1/2/2	ルルルルル	1/2 /2 /2	12	08	96 -	- 96	1	Parker eves
*		1/2 /2 /2	12 12 12 12 12 12	12/1/2/2	九九九 九	2/2/2	"	1 mg	288	288	11	Robert rasto
. Tailoring		22/2	1/4 /2 /2/2	2 1 1 1 1 1 1 1	为大大大大大	1/2/2/1	12	24	288.	288	1	Patrick Bit
	2 2 7 7 52 79.	12/2		12 1/2 1/2 /2 /2	12/1/1/1/1	11/1/2	12	18	96	- 96	1	andrew Duc
		1/2/2		上上上上上上	12 14 16 12 12		12/	08	100	100		Daniel ever
		1/2/2/2		21241			12/2	44	306	306		John Lewan
							2/2	24	60	60	1	David Turker
		12 1/2 1/2 1/2		北大大大大大	1/2/1/2/	1/1/2	13	12	156	1	11	seth Char En
NS IN COUNTY IN		12/1	124112	111111	4 14 14 14 14 14	1/1/	113/	24	282		1	-0
THE REAL PROPERTY.	A VINCENTIAL PROPERTY.	1/2/1/	1 14 1 1/4 1	12/2/4	1/2/2		6%	24	150			Clavert ev. so
3370	The steel will be the		1- 1/4 /2 /2 /2				7	12	84	1		Samuel F. sto
		12/2/2	1 1/1/1	22222	1 1 1 1 1 1 1 1	1/2/2/2	12	ry	288		1	martino Vall
	THE RESERVE			1 14 14 14 14			9%	12	114.	114		Logarustevil
7 3 5 8 8 7 3	THE RESERVE			1-12/14/2/2			12/4	18		102		Taylor Smith
	THE PARTY OF THE P	10 10 10	101010	17/19/19/19/19	10/1/1/1/1	12/4/2	19					

REPORT of Irregular Emplo	yés at	Agency	<i>/</i>	, for M	onth ending		,	189 , by.				, Indian Agent.
		1		DATES OF SERVICE				COMPENSA				
CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4	5 6 7 8 9 10 11	12 13 14 15 16 17 18 1	19 20 21 22 23 24 25 3	26 27 28 29 30 31	No. of DAYS.	Am't per Day.		AMOUNT PAID EACH.	RACE.	NAMES OF EMPLOYES.
Apprentice to Tailoring	Indian apprentice	14 1/4 1/2 12	1. 1. 1. 1. 1. 1. 1.	1/2 /2 /4 /4 /2 /2	LA	12/12/2	934	08	78	- 18	.0	Hayes Williams
" "		1/2 /2 /2		九九九九九九			12	08	96 -	- 96		mark stopkins
		12/2/2	hhhhhhh	九九九九九九	12/1/2/2	1/2/2/2	/3	12	156	156		Stansill moses
		1/2 /2 /2 /2	12/2/4/2 /2 /2	九九九十九	12/2/2/2		10	08	80 -	- 80		Duncan Balatalu
		1/2 /2 /2	九九九九九九九	九九九九九	1/2 /2 /2 /2 /2 /2	hhhh	13	08	104	1 of		Frank Penn
		hh hoh	hhhhhh	加加大九九九	为九九九九九九	Kh hh	13	18	104	104		Robert Brown
Bellevist, - there		1/2 /2 /2	1/2/2/2/2	11/2/2/2/2	1/2 1/2/2	10/1/4	12/	12	150 -		-	Spencer Smith
	,,	hhhh	1-1-1-14	九九九九九九	11/2/1/	1 hh	1174	4 24	282			Stailey noverous
15	, ,	1/2 1/2 /2	1/2/2/2/2	1. 1. 1. h. h. h.	1/2/2/2/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/	1/2/2/2	13	24	3124		R	Calls of Lossing
			1 h / / / /			1/2 /2 /2 /2	13	24	312	312		albert metofen
			hoto hoto to				10	121	120-	- , 20		albert & Eagle
			1. 1. 1. 1. 1. 1. 1.			h forth	13	08	104-	104		John moses
			九九九九九九				13	08	104	104		Joseb w. Killer
			hh hhhh		九九九九九九	2224	12x	- 08	100 -	- 100		Ernest stogee
, ,		12 12 12 12			1/2/2/2/2	1. 1/2 /2	13	08	104	104		Char DEBrae
		2/2/2			11/1/1/2		13	08	104	104		andrew Balcome
							13	08	104-	104		morgan stastanethla
1			1. 大大大大	12/2 1/2/2	hhhhhh		12/2	08	100 -			alex. B. Upchan
			1/2 /2 /2 /2 /2 /2	九九九九九九	九九九九九九		13	08	104.			Chas wight
			九九九九九九		九九九九九	1 1/2 /2	13	08	104-			Levnand Sanesewah
	*		九九九九九九				5	08	40	/		Oscar warden
		12/2/2	12/2/2 /2/2	12 12 12 12 12 12	11/1/1/	11/1/2	13	08	104-			wiley morgan
		1/2 /2 /2	1. 1. 1. 1. 1. 1. 1.	1. 1. 1. 1. 1. 1.	九九九九九九九	九九九九	13	. 08	104-	-		David mcharland
			1. 1. 1. 1. 1. 1. 1.		12 12 12 12 1	九九九九	12/	24	300			John llyya
		1/2/2		12 12 12 12 12 12	22222	1/2/2/2	12/	24	300 -			Festus Pelone
1		1/2 /2	1 1 1 1 1 1	1/2/2/2/2	hphhhh	12/2	12/2	12	150 -	150		Stirted Little stank
		444		12 12 12 12 12 12	11211	1/1/2	12/	12		150		10 .00
		1/2/1		1 2/2/1	1/2/2/21	2/2/2	15	.08		-		Joseph martiney
		1/2 /2		12/2/2/	10 10 1 1 1 1 1 1 1	1/1/2	12/2	18	100	1 20		Benjamin & Wheelock
			12/1/1/1/		hhhhhh	1/2/2	12	18	1 4 1			Benjamin Harrison
			北北北北北北				12/	18	100	96		andrew B. Cloud
		x h /2	为人为人为人	12/1/2	44444	1/2/2	12/2	18	100	100		Kawanche
" " Tinning	"	po p	大九大大大大	LXXXX	11/1/1/1/	2 21	11	18	88 -	- 1		Thomas Balmer
			九九九九九九				11	08	88	88		martin R. Face
**************************************	HALLE COLL AND L		111/1/				12	08	96	96		
			4				11/2	08	Tr	1/2	1	Peter camp Saul Govejoy
" " " "		1	九九九九九九	1-1/2 1-1/2	14/1/1/	1/2/2	1/2	.08	78	88		Geo. Cevaren
		1- 1/2	12 /2 /2 /2 /2	1. / k/k/	1/2/1/2/	1/1/2	11/2		276			Three None
											1	
							1	Total.	3039		V	

0

REPORT of Irregular Employ	yés at	Agency			,	for Mo	nth ending		,	189 , bį	<i>y</i>			, Indian Agent.
-					DATES OF	SERVICE.			No. of	COMPEN	SATION.	AMOUNT	P. co	VALUES OF SURFACES
CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4	5 6 7 8 9	10 11 12	2 13 14 15 16	17 18 19	20 21 22 23 24 25 2	26 27 28 29 30 31	DAYS.	Am't per Day.	Am't due each.	AMOUNT PAID EACH.	MACE.	NAMES OF EMPLOYES.
all + + T	Indian apprentice	1/2	2 1/2 /2 /2	1/2	1/2 /	1/2	12/24	222	10	08	70	80	0	Star B. Boy
apprentice to Linning							ルルルルルル		11/2	24	276 -			James S. Yellow
							九九九 九九		11	4	264			Wood nachogey
							たななんん	2/2/2	11	08	88 /			Joseph Evans
III di alst Rom		12 1/2 /2	1/2 1/2 /2 /2	1/2/2	12/2/1	1/2/2	1-1-1/2/2/2		13	24	3/2			James evaldo
Work in Olothing Room							プルルルルル		13	24	312	312		com Lighton
							1/2 / h/h/h		13	24	312			David abraham
Janiton							12/1/2/2		13		312			Samuel C. Dion
Work in Kitchen							为人人人人		13	-12	156			andrew Lyte
							11/1/1/1		12%		250			James Pontiac
" " Bastery	*						hhhhhh		12/2		250 -			
" "M · · · · · · · · · · · · · · · · · ·							11/2/2/2/2		13					Chas Brave
Mail Carrier							九九九九九		13		106			Com Carrefill
Word in Steam Plant							12/1/2/2			12	156			Joseph B. Bear
* * * * * * * * * * * * * * * * * * *	The state of the s								13					Benus Liere
* * *							hhhhhh		/3		156			albert Standey
							12/2/2/2/2		13		156	-		Stawley Fierce
		1 / 1 / 1					hopping in		13		156			Is a de Johnnie John
and a second	*	1 1 1 1			1 1 1		12/2/2/2/2		13	12	156			Stenny W. Warren
, a Stable							1-1-1-1-12		13		156-			James mc adams
" " #							10/1/1/1/2		13		156.	156	1	John Forestar
- a warehouse	*						hip hip hip		13				11	Justin Shedee
		2222	17/2/2	122	12/2/	1/2/2	har hap	1 / hy	13		156	156		George Ladeoux
* * * * * * * * * * * * * * * * * * * *	"						1/2 /2/2/2/2/2		13	12	156	156	"	Roger Silar
		1111	1111	1. 1	121	111	11111	1111	26	24	6244	- 6 24		William Baird,
" at micking lows	*	111	1111	11	111	111	11111	1111	25	20	500	500	"	Dawin Stayes
" " "		111	1111	111	1111	111	111111	1111	25	20	500	100		Oswold Smith
" " " "	7						111111		25	ro	Sov.	500		Jonas metofen
· " farming			1 1 1 1		1 1 1 1		12/2/2/2/2		13	12	156 -	1		Francis Lungs
							九九九九九		13			- 156		ever Johnson
							1/2/1/2/2		13		156			Duncan Mc Dougall
Assistant to Small Boys Matron	,						1/2/2/2/2/2		13	2	104-			Clar Doineah
* " " " "	*	4 - 4 4					hhhhhh		13		104			Egra Reissler
n n n	11	12 12 12	1/2/2/2	1/2/2	1/2/2 /2 /2	1/2	1/2/1/1/	1/2/1/2			1040			whitney Sowland
	La de la companya della companya della companya de la companya della companya del	1/2/2	1/2/	1/2/	12/1	LAA	12/1/1/1/	1/1/1	13					Brigmon Corneline
- " Girlet "	, ,	1/1/	1	1.1.1	11/1	1/1/	1111111	1 1 1 1	13	ry				
		1/1/1		XXX		1/1	11/1/1/	11/1/						Ilsie Cornelius
	" " " " " " " " " " " " " " " " " " "	12 /2 /	1/1/1/	12/2	1/1/1	1/1/1	1/2/1/	1 2 / 1 / /	13					Ida Fu Chapeller
* 1 " "	*	12/2/	1/2/2/2	1/1/2/	1/1/		1. 1. 1. 1. 1. 1. 1.	1 1 1 1 1 1	15%		100	106	1	Jessie Biller Ida evhelock
			1	1	1	1	1. 12/2/2/2	The state of the s						da whetock
and the second second			100							Total.	83 88			

REPORT of Irregular Employ	jés at	Agency	for Month ending	, 189 , by		, Indian Agent.
			SERVICE.	No. of Days.	AMOUNT RACE,	NAMES OF EMPLOYES.
CHARACTER OF SERVICE.	NECESSITY FOR SERVICE.	1 2 3 4 5 6 7 8 9 10 11 12 13 14 15	16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31	DAYS. Am't per Day. Am't due each.	Patr Zacin	
	1		x h h h h h h p h p h h h h h h	(15% 12 186.	186 9	Lizzie Stands
esistant to Girls Matron	Indian apprentice	大大大大大大大大大大大大大大大大		15/2 12 186	+ 186 .	Jeanette Pahyastatus
n " " "		LAR KARAL LAK		11 24 264	764 .	Ida m. warren
" Jeacher		hup habba hak	his hopeth he hopeth	11 24 244		Florence miller
		XX		1 24 24		Horence wells
		hhh hhhhh hh		11 24 264		maggie Thoma
		RAL KAKA WAX		11 24 264		Leila Cornelius Prettie Fremont
" "	1	hin hickory		11 24 264		adelia Love
	.,,	12 1 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2				minnie yande
"	4	hhip hhip hip hit				Belinda archiga
		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1		15/ 12 186		alice Long Sole
Janithese	4		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	A SI I I I I I I I I I I I I I I I I I I		annie Parnell
*			11/1/2/2/2/2/2/2/2/2/2/2/2/2/2/2/2/2/2/			Delia Randell
eistant in storfital		111111111111111111111111111111111111111	AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA			Sarah Flynn
11 11 11	"	111111111111111111111111111111111111111	九九九九九九九九九九九九九九九九		1-	Mary Barthur
* * * * * * * * * * * * * * * * * * * *	"	111111111111111111111111111111111111111	Ahhhhhhhhhhhhhhhhh			mellie more
		211411411	九九九九九九九九九九八九八八	15/2 12 186	186 .	amelia Killston
****	"	444444444444	大人大人人人人人人人人 12 人人人人	4 15% In 186	186 "	Beatice Night
		12 12 12 12 12 12 12 12 12 12 12 12 12 1	大大大大大大大大大大大大大大大大	C 15/2 12 180	186 -	Lettie Connelly
		LLXLLXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	ARRANARAKAKAKA	L 15/2 24 37	2 372 "	Statie Inetofen
· Sewing Room		LLAX XXXXXXXXXX	LAR ARKALL KARK	13 12 156	156 "	Sucan Tiboon
* * * * * * * * * * * * * * * * * * *	"	LLX Lhhhhhhhhhh	LAR RALLAND WAR	13 12 156		Elector Schanons
	,	2422 1211111111111111111111111111111111	大大大 大大大大大 人人大人	13 12 156		Figgie Siedles
	4	1/2/2 / halland hat		13 12 150		alice Famber
		hhan hahhahhahh		13 12 156		Grace Red Eag
	*		hope happy happy	13 12 150	156 "	Louisa La Chay
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	LAN MANAAA	hope hope hope to he forther	13 12 150	156 "	, Ida Soulas
	"	LALL RAPALA MA	hope to hap hap to he	13 12 15		anutte Sais
				3081	4 308 14	
				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
			Ingul	- Pell 27889	27889	
				The second second		
		nployés for the month of		Total Can	3 187 03	
And the second second				23610	00/100	THE RESERVE OF THE PARTY OF THE

6-5

, and properly sworn to thereon.

Dated at Parlisle Banachs, Par Agency, March 31, , 1893.